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Stat 576 HW1

6 A university has 807 faculty members. For each faculty member, the number of refer-
eed publications was recorded. This number is not directly available on the database,
so requires the investigator to examine each record separately. A frequency table for
number of refereed publications is given below for an SRS of 50 faculty members.

Refereed Publications ‘ 0 | 2 3 4 5 6 i 8 9 10

Faculty Members ‘ 28 4+ 3 4 4 2 1 0 2 1 |

a Plot the data using a histogram. Describe the shape of the data.

b Estimate the mean number of publications per faculty member, and give the SE
for your estimate.

¢ Do you think thaty from (b) will be approximately normally distributed? Why or
why not?

10 Which of the following SRS designs will give the most precision for estimating a
population mean? Assume that each population has the same value of the population
variance S°.

1. An SRS of size 400 from a population of size 4000
2. An SRS of size 30 from a population of size 300
3. An SRS of size 3000 from a population of size 300,000,000





